
Free Questions for TCP-BW6 by certsinside

Shared by George on 20-10-2022

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1
Question Type: MultipleChoice

You are designing a TIBCO ActiveMatrix BusinessWorks process that makes use of a subprocess to execute an update operation in a

legacy system. The legacy operation usually takes two seconds to finish. In total, you are making three updates by using three

sequential Call Process activities. It takes at least six seconds for each ActiveMatrix BusinessWorks job to finish. You are looking for

improvement strategies to reduce the execution time for your process. You can improve the throughput of this process by calling the

subprocess three times in an iteration group with the_____________

Options: 
A- Group Action set to Critical Section

B- Call Dynamic Process option checked

C- Spawn Process option checked

D- Group Action set to Transaction

Answer: 
C



Question 2
Question Type: MultipleChoice

What is the result of a message producer sending messages with the JMSDeliveryMode set to NON_PERSISTENT?

Options: 
A- If authorization is enabled on the server, the server sends a confirmation to the message producer by default.

B- If authorization is disabled on the server, the server sends a confirmation to the message producer only if the npsend_check_mode is

set to temp_dest.

C- If authorization is disabled on the server, the server sends a confirmation to the message producer by u default.

D- If authorization is disabled on the server, the server sends a confirmation to the message producer only if the npsend_check_mode is

set to auth.

Answer: 
A

Question 3
Question Type: MultipleChoice



Where is the Domain Utility run when adding a machine to a domain?

Options: 
A- on any other machine in the domain

B- on the machine where the Administrator is installed

C- on the machine you want to add to the domain

D- use the Administrator GUI to add the machine

Answer: 
C

Question 4
Question Type: MultipleChoice

What are two characteristics of a service? (Choose two.)



Options: 
A- Services use WSDL, an XML format for describing network services as a set of endpoints.

B- Services use WSIL, an XML format for defining the IP address and port of a service.

C- The operation interfaces of a service isolate the consumer from the implementation details of the service provider.

D- A service provides a set of operations that can be used in multiple contexts.

Answer: 
C, D

Question 5
Question Type: MultipleChoice

Which two statements correctly describe the behavior when a destination inherits the prefetch property from multiple parent

destinations? (Choose two.)

Options: 
A- When none of the parent destinations sets a non-zero value, the child destination uses the value none.



B- When all parent destinations set the value to none, the child destination uses the default value.

C- When all parent destinations set the value to none, the child destination uses the value none.

D- When none of the parent destinations sets a non-zero value, the child destination uses the default value.

Answer: 
C, D

Question 6
Question Type: MultipleChoice

How can you implement a consistent form experience for a common subset of data across multiple tasks and forms, while minimizing

the number of places where changes must be made?

Options: 
A- Use embedded forms.

B- Use a pageflow.

C- Copy and paste a form section into other forms.



D- Make a form pane read-only.

Answer: 
A

Question 7
Question Type: MultipleChoice

Service X is available 80% of the time, and Service Y is available 90% of the time. Service Z calls Services X and Y. What is the highest

expected availability for Service Z?

Options: 
A- 72%

B- 80%

C- 90%

D- 8%



Answer: 
A
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